ACTFCM-03

FIRST YEAR HIGHER SECONDARY MODEL EXAMINATION, AUGUST 2021

Part — III Time : 2 Hours
COMPUTER APPLICATION Cool-off Time : 20 Minutes
COMMERCE

Maximum : 60 Scores

General Instructions to Candidates
There is a cool-off time of 20 minutes.
Use cool-off time to familiarize questions and to plan
your answers.
Read Questions carefully before answering.
Read the instructions carefully.
Calculations and figures should be shown in answer
sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except non-programmable
calculators are not allowed in Examination hall.
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PART A

Answer any 5 questions from 1 to 7.
Each carries 1 score (5X1=5)

1 MO@B 7 UOE@ISS @2193(683E @D
a@O@Bs1RIk0 5 nGlEROBIM DT™PO
ag)PIORD>. BICEIMIMo 1 MIH98 aflmo
(5X1 = 5)

1 Which among the following is an invalid

number?
(38)s , (38)i0 . (38)s
2 A... can identify human physical

features uniquely.
(QR Code Reader, OCR, Biometric
Sensor, MICR)

3 A program written in High Level
Language is called

(Source code, Object code ,Binarycode )

1

@969 ®MIAlE6MAUIITE @RANVIWINIITQ)
MMUB aGO?

(38): , (38)i0 , (386

M3 UBIGIAIE MNINGUBHUDH>UB
®@lo|0l@INB OalEWIUIBMRMM Daldr@6Mo

AR ?
(QR Code Reader, OCR, Biometric
Sensor, MICR)

High Level Language @3 ag)93@3mm
GloWaalem ...... o)} alOQIM .

(Source code, Object code, Binary code)
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4 The tokens that convey a specific 4  Seemieioln) 68} (ICME: @odL0o M@D
meaning to the compiler and are BN (BB S BRHNUREBRUBLEIDI M|
reserved for special purposes are called 04 [lElERMO@AIW BSILHEMIGHEO8
............................ ad)aM} alOQ@IIM].

5 Pre processor directives start with ___ 5 (o]l aruomuqyd MlBeRuesBRUB @Ry®oEleemM®)
symbol. | e aflatn@@R106M.

6 Pick the odd one out 6 SRWIV® BEOEIMSIEENE:

(while, do... while, for) (while, do ..... while, for)
7 The MAC Address is a unique ID 7 803 02O ......couneee 0 N@BIVISISs
assigned to the .... of a machine . Q@M@ MAlE2I@RRI® Aflerdmvo
( Processor, NIC, RAM , BIOS ) @em MAC Address
( Processor, NIC, RAM, BIOS )
PART B
Answer any 10 questions from 8 to 27 8 M@ @B 27 UOERSS @aldn(eBRs 3
Each carries 2 scores  (10X2=20) a@e@®sleize 10 ng)EROMIM DT™®Oo
ag)PIORD> 6398EIMIMIo 2 MICHI@ aflmo
(10X2 = 20)

8 If Mg=N,=11011, find the value of M 8 Mg=N;=11011, @eemsslcd M, N
and N ag)MIQIQROS DLl DE6NBDTE:

9 RAM refers to the main memory . Listout | 9 &MIRSAONG (1WIMEee]s HREAG] @rRYEY
the different contents stored in RAM RAM. @50a135®@ (aIQUBO )3
when a computer is in use. 6H06NElBleecMIoud RAM @d

MU BO6SIM (A IWIME]S OBBSH6EBRUD
af)OTMEI0?

10 (a) Define system software . 10 (a) milgye @MVIAQ OQAUIA MIBQ2llec)es.
(b) Write any two components of system (b) adlane @MLIAAY HAUGIOM aBeEsRI0

software . Q61TS “RISE6BBBIOS Bale)PYIORD> .

11 What are the differences between CRT | 11 CRT @@6mIQ®@ , 4Q9q aloM@3 @26mIQA
Monitor and Flat panel Monitor? af)MmlQ @eAeRs8s QI@PAVEBBRUS af)OTDEJI0?

12  Write any two advantages of 12 a0G8021005IHBLO)S BRI @61
flowcharts. CAMBUB af)PIOND:.

13 Name the following symbols and 13 @969 6BSISIOMIBIENMM GaQo210RS
mention their purpose in a flowchart . Mlo6NIERESIOS BalO@VINE:. BRI

9alCINo af)(0) ?
(a) (a)
(b) - (b) ¢ )
2
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Identify the step in programming in the
following situations .

(@) Writing a program using High Level
Language.
(b) Finding errors in the program.

The following identifiers are invalid in
C++ Write reason for each.
Id# , void , 2ab , sum of digits

Categorise the following into different
types of tokens.

a.result b.% C.# d. float

Classify the following into unary, binary
and ternary operators .

&&, ?2:, !, ++

Write the syntax of variable declaration
in C++, Give one example.

Predict the output in the given C++ code,
if p=7

a) p/=2; cout<<p;

b) p%=2; cout<<p;

Write four different C++ statements to
increment the value of the variable x
by 1.

Write the syntax of any one entry
controlled loop .

The following do .. while loop displays

the numbers from 50 to 100. Pick from

the following to fill in the blanks.
(50,100, 101, ++, --, for, while, do)

14

15

16

17

18

19

20

21

22

3

@IOY alOQIMAU BII(UIAIONNG BDY
equedlenesmam @@l olays

(a) High Level Language 9alc@ouila]
G(al9(UNJ0 af)WIOROM].

(b) 8@} GrIoWAleE! H@QIEUB
&6enzallsSleeyomy.

21JQUOS EBISIOIGBlHEIM
£ag)WGlaN@OIEUB @RIVIWINUIEM).
6306EINMIMJo HIBEMo  af)PIONE>

Id# , void , 2ab , sum of digits

@Iy @mldlemnmae@ alalwmeoe
BSIHOEMBUB @R/ @I HE)H:.
aresult b.% c.# d.float

@969 @GBS, 6300]BNQMGOS8 @IMA ,
066NNl , ®SBMA ag)(MmIEBROM M@0
OIR| B 5.

&&, 7,1, ++

cdlenilud AWlgad eaigpM@IMmss
MIlaBoBMY ag)mIEN ? B®) OBIAN®EMo
) PYORE>.

p =7 ag)BI@d @Y mMIgIss C++
BBOUWIOHNG 8DFa]RS ) IR

a) p/=2; cout<<p;

b) p%=2; cout<<p;

X ag)am variable eag ailer smy @x353Q0008 Moel
QAU@MI® C++ BEROORNGIDUB af) O3,

aBe®sslee 6@ entry controlled loop exg
mIlaBoE MY ) 9IRS,

50 23@@3 100 QUOE@QIBS (MVo6U(dEHUB (IRD
Wlaflecmm@lmas do ... while ea]
£)B>0SIOGBlEERMM].  (rUdLe IS Mmlane
ODEEEVMSIOD QNSIEIOQ BRI

alj@lojleens .
(50,100, 101, ++, --, for, while, do)
= e ; (a)
........... (b)
{
cout<<p<<\t';
[N ; (c)
}while(p<=.......... ) (d)
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23 Consider the C++ code.
switch(score)

{

case 1: cout<<”Passed”; break;
case 2: cout<<"Failed "; break;
default : cout<<"Invalid”;

}

What will be the output if score has
values

(@) 2
(b) 3

24 What is bandwidth? Name the unit used

for bandwidth.

25 Name any four types of Social media.

26 Write two drawbacks of e-mail.

27 Explain EPS.

23

24

25

26

27

@MIBlE6M C++EH0W al@INEMIB6H:.
switch(score)

{

case 1. cout<<"Passed”; break;

case 2:: cout<<"Failed”; break;

default : cout<<"Invalid”;

}

IO OBISIOMIGHLNMAI score )
allels:ud @Rl Mile:@lajo@d 68MSaRs
) GSleo ?

(a) 2

(b) 3

ag)amo6m bandwidth? Bandwidth eag
@G o) am6?

aBOOB1R MIET M@0 BIVIAH(TD
AWV QE:SIOS Bal@ af) 93O,

E-mail &g agomssilege @6ns Gald@o@inde:ud
) IO .

EPS allteidle:@leeyss.

PART C

Answer any 10 questions from 28 to 48.

Each carries 3 score (10X3=30)

28 Mm@ @3 48 UOERBS @ald3(6BRs 3
a@e@smsleize 10 ng)eROMIM 9@™®o
Ag)PIOND:. BICEIMIMYo 3 MICHI@ aflmo
(10X3 = 30)

28 "“Computer superior to humans in data
processing “. How ?

29 Find the binary, octal and hexadecimal
equivalents for the decimal number 16.

30 If the Sign and Magnitude representation

of a number is 00001111,

(a) Identify the sign bit

(b) Identify the number

(c) Find 1's complement of 00001111

28

29

30

4

BWQ BrIIMIQIEBIEIEE BMIISB AMIa(GD
@608 Ao ajmaem. Qilvadle@leed:

16 ag)am eawmilacd maudlead binary, octal,
hexadecimal @}elEeRud &66N3@IRE:.

63@3 Muot(@IeS Sign and Magnitude
representation 00001111 @R@I@3

(a) Sign bit ag@oeny ?
(b) MMIB a@@I0eMaTy B6N33alISle6)H:.
(c) 00001111 &g 1's complement &©06MmMycs.
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31

32

33

34

35

36

37

Categorize as input and output devices.

joystick , scanner, plotter, printer, light
pen, speaker

Draw the flowchart for the given
algorithm

step 1 :start

step 2 :I=1

step 3 :print|

step 4 :I=I+2

step 5 :if (I<=10) go to step 3
else go to step 6

step 6 : Stop

Identify the type of error

(@) Rules of the Programming language
are not followed .

(b) The program compiles successfully,
but the output is wrong .

(c) The program was interrupted during
execution .

What are the rules to define an
identifier?

If p= 12 and g=5, find

a. pl=q b. p%q
c. p<=q d. P /(-aq)
e. p>q && g>=5 f. I(p==5)

Write the correct data type to store the
following data .

a. Age of a student in whole number.

b. Percentage of mark of a particular
student in floating point.

c. gender as ‘M’ or 'F’

Write the names of any three
expressions.

Give one example for each .

31

32

33

34

35

36

37

5

Input device , output device agymlearean
@0 OIB|E)E:.

joystick , scanner, plotter, printer, light pen,
speaker

@96 @MIIElHM @RM@BEUNIG@OTI6HNG
a0G82100S U EEND:.
step 1 :start
step 2 :I=1
step 3 :print |
step 4 :I=I+2
step 5 :if (I<=10) go to step 3
else go to step 6
step 6 : Stop

@969 ®MIGBENRMD GO 6)6Sq] error

@RYOEMAT) af)PIOREs

(a) GruoWdler e1cewElOng Mlnearud
atoeflojlgy

(b) @I LoRlI® compile 6.alQi@y.
alGBH BDFalZ ODQIEM

(c) Execution qua@@10) Gl
OSEOISIM].

80} 6af)WGlan@A MIld2leceMIoUd
atoelleenenz MleasRUd af)HamEoo @R6M) ?

P=12 90 q=5 9o @ROEMBITB BV RS
) PYORE>.

a. pl=q b. p%q
c. p<=q d. p/(-q)
e. p>q && g>=5 f. 1(p==5)

©@26¥ @MIgI8s g Mue:HlemmM@lay

@RMICDIIMIV CAQENSq] af) 9IRS

a. 8©} allzpdmdlees @] «13deN
MVo6U(@I@D .

b. 8@} ailepdmdlaens nadeslang vemadmo
BUBI0UBMIEL(IEY IO @D.

c. 'M’' @regElad ‘F' agym Solailad gender.

aRBOOBILI3 DIMY af)d M (laUMIO-BIOS
Gal®o OBINEEMOUIo af) YOS,
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48

What is the use of comments in C++?
What are the two ways to include
comments in C++?

Predict the output of the following C++
codes if a=10

a) cout<<a++;

b) cout<<++a;

What is type modifier in C++? List the
type modifiers in C++.

What is a control statement? Write the
two types of control statements. Give
one example for each.

(a) What is a loop control variable ?
(b) List the different components of
loops in C++.

Classify the following networks based on
the area covered.

a. Your computer connected to a
printer.

b. ATM network of a bank.

c. Cable TV network in a city

Name the device used to connect two
computers using telephone lines.
Explain.

List four services on the Internet and
explain any one of them.

Name and explain any three cyber
threats.

Online Learning education has gained
importance in the Covid Pandemic
situation. Explain different types of e-
Learning tools available for online
education.

Write any three challenges to e-
Governance .
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6

C++ @8 SR80S DalBINOAMD)? Ct++
@3 SHAMPIHUB BalBLNRM DI MBS @6
A BUB aBO®EJ0?

a=10 @RWIT IO H)BISIOIAIEeMM C++
BHHIWIHBIONS BDFaRS af)9YORD>

a) cout<<a++;

b) cout<<++a;

C++ @3 ©6Sa] GRIUa0@OEBUB ag)mIEN ?
C++ ol ©6Sqe] eG2oUlan@0)e:0B ellgy
6).21QNS

BEMG(SOUB BANNODY af)MI@D af)aD)? @6NS
@@o control statement &:u3 a@e@LJ00?
6060J BIaNBEMo af)PITND:.

(a) Loop control variable agyama@d ag)ao) ?
(b) eRafa@gies ailaflw ceiseeerud

aBO®EYI0?

80} OMYOIBES 2U86EHISBIM QM@
OO @RSIMNIMDTITB @IHYe O
OMAAUBLNEUB af)6BROM @0 @@BlE60 ?
a. MleeBges &MIISA (ilagnyaoa]
SHEMES 6)21QQM].
b. 8@} eruossleg ag) Sl agle OMQ AUBHS) .
c. 8@} milglesmsslornl esmilud sl aill omg
QURHS) .

61133 B0al{1SNYBHUB HISRIG.NIEND EIOLIND
9ale@IUIl 5] snucmlafleenmmaila’y
MUANIW]HLEMMN Daldh@6Mo aB®) ?
Qa0 860 H:.

svagdemgleal 4  emuamesrud ellqy 6.1y
@rAIQIceIOm®BeRe MY Qlluadle@leeds..

aBOOBIRI MIMY HOAVENIA Elaremle:816S
Gal®o lUBAElIBEEMOU MNTBHIH:.

800l QP IMOTI NG aluRUOOmEIOTEI @B
8306MmeeeInd QllEPOEOMGBTINY (10WIMIGAO]
QUIEM}. 6396MeeeIm allzpePIVEIY

Man0@leemm allailw so-gelemlou) S83e-ud

aBO®EYO0 ?

e0-NEAEMMMIlON a@eO@esslee m3amM)
epRAISle:ud ag)9yos
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PART D

Answer any one question from 49 to 50 49 @3 50 UOEMISS @ 210368 @D
Each carries 5 score(1X5=5 ago@®Elen. amila) 2OMEe agPICRS: .
6396EIMIMIe 5 M@ aflmo (1X5 = 5)

49 a)Define e-waste (1) 49 (a) e-waste agyamoeny ? (1)
a) “e-waste is hazardous to our health (b)"-caugy MEMOS @RHEEIVDHIM0
and environment”. Justify the statement. al@lnOl@l 8630 @RAI:SEH-E6M .
(2) (UNI@OUMEO MO @ B6Es. (2)
c) Explain commonly used e-waste (€) OWIEEM@IVI DalE@IUIBEMM
disposal methods? (2) sn-moeflmy Mdaodmm Adle:os0e0a]
QllveBle@lees: (2)
50 In order to form a network of 5 50 School Office el 5 &MIR50IUB eruausle]ls]
computers in the School Office 80} OMYAUBHE) DENRILERM@IY
a. Name and draw the topology that a. 80} Milafleries ag)eo BMIUWE:So
uses switch to connect all the MBS )21 SIB OB aB® ?
nodes. (11/2) 2ll(@®o UEWH6)]H:. (11/2)
b. Name and draw the topology that b. g0 EMIWE:Se al@Mial@oe GMEIS
ensures direct connection eniWlaflenmm 6526 o8ed] a@® ?
between every node. (1 1/2) 2o QUL S (11/2)
C. Which would be your choice C. MSSITD alOOMIGBlEeM NS
between the two? Why ?  (2) topology &gl@d M1earud ag@oem
OTVEIDS 6)alQRD:? af)TOROHINE? (2)
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. Shabeer M Mundekat , GHSS Ezhur . Liju Mathew , Marthoma HSS Chungathara

. Jessie Mathew , GHSS Vaniyambalam . Priya M D, GHSS Purathur
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